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Please check that this question paper contains 19 printed pages.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 27 questions.

Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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(i)
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(i11)

(iv)

(v)

(vi)

(vii)

aqut go7 7T & | 3 F7-77 § FT 27 97 & | F97-97 qier @vel g
fayifsa & 1

GUS 37 § Y97 G&IT 1 -5 TF Y% J97 U 37 F1 & | Y% J97 F I
20 vsg] @ 371 757 &7 05T |

GU8 § H Y97 &I 6 - 10 7% Iod% 97 g 3HH #71 & | Icdh J97 & I
40 752 G 37feres 787 &1 =IeT |

GUE T § J97 &7 11 - 16 T JI% I3 AR 3HH &1 & | Id% 97 &7 I
100 3551 @ 37ferw 787 g1 =15 |

GUE 7 § I3 G&IT 17 - 21 T I §97 Gidl 37h] &7 & | Icdeh 97 & T
150 7531 @ 3718 757 1 T30 |

G 7 § ¥o7 gEgr 21 HARE W OEGIRT 94 & | $E9F IR I
FT-GiEdT 4 1e7iEe |

GUS T § Jo7 &7 22 — 27 T I9%F ¥ D: bl FT & | I9F I3 HT I

150 155 @ 3718 757 &7 T3T |

General Instructions :

)

(it)

(i11)

(iv)

(v)

(vi)

(vii)

All questions are compulsory. This question paper has 27 questions in all.
There are five sections in this question paper.

Section A contains Questions number 1-5 of one mark each. The
answers to these questions should not exceed 20 words each.

Section B contains Questions number 6 - 10 of two marks each. The
answers to these questions should not exceed 40 words each.

Section C contains Questions number 11- 16 of four marks each. The
answers to these questions should not exceed 100 words each.

Section D contains Questions number 17 - 21 of five marks each. The
answers to these questions should not exceed 150 words each.

In Section D, Question number 21 is a map-based question. Write its
answer in your answer-book.

Section E contains Questions number 22 - 27 of six marks each. The
answers to these questions should not exceed 150 words each.



Qs A
SECTION A

1. Gifead 99 & form Ja1 < Gifdea g9 & faged & o ) |men S gehar 8 2
I3 Teh I fAfay | 1

Which leader of Soviet Union can be blamed for the disintegration of
USSR (Soviet Union) ? Write any one reason.

2. ‘gorarE @ 1 o1 T HINT | 1
Explain the meaning of ‘Indigneous people’.
3. NG o fpel Wt T5F gl IR-HIUEH TERR -8l TSHiTdeh 91 4 a1 ?
AYAT
AU wRd i fohedl @ Terifae widat & 9w fofge e s awrferee
arel | BB | 1

Which political party formed the first non-Congress government in any
State of India ?

~

OR
Name any two political parties in contemporary India which trace their
origins to the Socialist Party.

4.  ‘onREm AR’ o foRet TR U7 T HeureR hIfT | 1
AT
‘e WHIfT & TRt T TH T JeTehd SHIfT | 1
Evaluate any one merit of ‘ASEAN Way'.
OR

Evaluate any one merit of ‘Bandwagon Strategy’.

5. fAfalgd § 9 -9 9 A9 & gr g H TeAd 3 ? 1
() SRt SgaTET 7 |
(i)  IAYTRTT ST 9IS SAATh TEHH B |
(iii) 3HY Yool o o9 god 39 &l Bl |
(iv)  STEfrehl s hRUT SReflehtu §3T 2 |
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Which of the following statements about globalisation is incorrect ?
(1) Globalisation is multidimensional.

(i)  The impact of globalisation is highly uneven.

(iii) It does not lead to conflict of values.

(iv)  Technology has led to globalisation.

Qus d
SECTION B

HHEdT 1 G i HHIST hl GRa ¥ AU Hgwyul A o fhel T HRu

&1 faemor i | 2
arera

T TYER TG 1968 Wi oA =0 @y dwsH & fRE TH HRU A

fareeryor it | 2

Analyse any one reason for considering human security more important
than territorial security.

OR

Analyse any one reason for considering NPT of 1968 as an arms control
treaty.

frfafad @1 @@ firem i éx4=2
& A &Y B’

(a) T g (i) SR RIS R0
(b) S SEM — S fRE™ (i) T AR Alfean
(c)  |FUl shil=d (i)  3feu i
d)  IRHUHTG (iv) T SEIgL e
Match the following :

Column ‘A’ Column ‘B’
(a)  Garibi Hatao (i) Jai Prakash Narayan
(b)  JaidJawan — Jai Kisan (i) Ram Manohar Lohia
(c) Total Revolution (iii) Indira Gandhi
(d) Non-Congressism (iv) Lal Bahadur Shastri
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fomreR 1952 ® TH ITCHT TSH, AFY YW, S & I HRU Hl ITTR
HINT | 2

HAYAT

RA s Y el gr fedTcAsh shifd o WH sl Bigd 991 1951 H 8T 3T
FAE! H 9T o 1 ol T % RO ol ISR SHIT | 2

Highlight the main reason for the formation of a separate Andhra State
in December 1952.

OR

Highlight the reason for the Communist Party of India abandoning the

path of violent revolution and deciding to participate in general elections
in 1951.

9. ‘Orufaee urdl i femum i el @1 famarst w1 guiq fifse | 2

HYAT

WA <hl JUH GaST JioHT bl fohegl @ fomiwarsti =1 9uig hIfSu | 2

Describe any two features of the ideology of ‘Socialist Party’.

OR

Describe any two features of the First Five Year Plan of India.

10. e gHAT % S H §Y I TGO o TRUMH T TR ity | 2
Evaluate the result of forest movements in the third world countries.

59/1/2. 5 P.T.O.



11.

12.

13.

14.

Qs A
SECTION C

3TN <hl HERIAT ¥ 3ehaid hifolu fob TR 3T 3ThIhT o 99 T&dd <0 o
TS G hl AT JUT § FEAT hl T aredt Ao & TaT of |

AT
Trvamg w7t HY Ufshan 1 3IeTEn <l gERdT 9 Ao hifvle | fohE YRR a7

sk fedm 3R gg ¥ - o |18 o €9 H B il g ?

Assess with the help of examples that the security challenges faced by
the newly independent countries of Asia and Africa were different from
the challenges faced in Europe.

OR

Assess the process of confidence building with the help of examples. How

does it function as a means of avoiding violence and war ?

1947 4 3T fawrsi o fohegl =R aRemT 1 i T |

Describe any four consequences of Partition in 1947.

AT & 8= I=d 1 fagermor SHifv |

Analyse the US Hegemony as hard power.

oM Fg % AU HEIRRAT g SIS ;M H FUA [ H SATC TH F TRl

IO <hl SATEAT <hifSTT | 249=4

HAAAT

YA <hi Te-Fuerar shi ifd 1 STTer=HT & foheal G SHRUN hl SATET HINT | 2+2=4

Explain any two reasons for the superpowers to have smaller countries as
their allies during the Cold War.
OR

Explain any two reasons for the criticism of India’s policy of

non-alignment.
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15. Wifa=a 99 & fageq & forgl =m qfomdi =1 9o ki | 4

Describe any four consequences of the disintegration of the Soviet Union.

16. g ufwg % U wmh dee & foau yEarfad few U aevel i o
HIT | 4

YT

<M1 h1 GRET ! WA o AT Gldl 1 The hiT | 4

Evaluate the proposed criteria for new permanent members of Security

Council.

OR

Assess the new sources of threat to the security of countries.

Qug g
SECTION D

17. = fu Tu s w1 eHgEs eE Hifve i fEfafad g % SW
fafe .
AWE o OHF 9Rd & AW 9@ & @ Aed o
IeraTd-YSfiardl diget qen duTsETd Oisd | YRd § %8 o faemE
% ®F % USEG] Aied § §gd YHIId 9 W AR o YSlama]
Hied o HHH 9gd HH I | WA A T & 3 Q1 Aieal § 4 e
w1 oft TE TR | WA § QT Higdl o dvdl sl {HAT S ST
T | 39 RO ¥ 39k Tafsa tdfeaasen’ war m |

()  9Rd H foeem & forg Al 1 AR T 2

(i) Tomd % 39 wisa hl @A & Tl @ faget w1 favewm
HT |

(Gii) = ITEfal ¢RI SEdTfad ‘Sirel w1 fogaiwor hifso | 1+2+2=5

AT

59/1/2. 7 P.T.O.



= ST T ST T AHYEH AT hiwg R Ffcafad Tet % IW
fofgu .

i)
(ii)

(iii)

1960 % T H HiY hl G 9  FeaL It T | 1940 3R

1950 % ¥ H & WraTd % 316 i ghg &, SHE 6l ghg &
T S48 379 Sl HW W TS off | 1965 T 1967 % &= ¢ o 3Th
foedi W @ ueT | 36 Aty W WRA A @ gl 1 AT TR 37K W
facefl 421 < ke 1 | ST TSl | 39 GR A1l o hU @ i
9T St B TS 3R W b TP WI H ARt St feufa o1 udh |

A < foh8 U9 T QT o Hehe I Gay 31foh TwTe g3l ?

1960 % 3 § WA | @rand Gehe (dig &Ht) & fohegl gl shron

&1 foweryor Kl |

1960 % Sk H IUd FU WATA Hehe o [oheal &l GROHT I

ferecryor i |

1+2+2=5

Read the passage given below carefully and answer the following

questions :

(i)
(i1)

(ii1)

On the eve of Independence, India had before it, two
models of development : the liberal-capitalist model and the
socialist model. There were many in India then who were
deeply impressed by the Soviet model of development. There
were very few supporters of the American style of capitalist
development. India did not follow any of the two known paths
to development. Elements from both these models were taken
and mixed together in India. That is why it was described as
mixed economy.

What model of development was adopted in India ?
Analyse any two points of criticism against this model of
development.

Analyse the ‘Bombay Plan’ as proposed by big industrialists.

OR
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Read the passage given below carefully and answer the following

questions :

(ii)

(iii)

The agricultural situation went from bad to worse in the
1960s. Already, the rate of growth of food grain production in
the 1940s and 1950s was barely staying above the rate of
population growth. Between 1965 — 1967 severe droughts
occurred in many parts of the country. This was also a period
when the country faced two wars and foreign exchange crisis.
All this resulted in severe food shortage and famine-like

conditions in many parts of the country.
Which State of India was worst affected by the food crisis ?

Analyse any two reasons for the acute shortage of food in

India in 1960s.

Highlight any two consequences of the food crisis in 1960s.

18. = fu 7Tu S w1 eHyEs A Hifve i fEfafad g % SW
fefigu .

59/1/2

TS % A o1 BAR W <l T, faem, oot famadi
% oo 3R TSI o YAl S| Hhicd Tl 8§ SEHT 9T | o 3R
fager o s THoEeh 1 FTAM AT Th WRA Thishd TS o &9 H
S Tt a6 oo T8 IO | STl o QL §1G STH-ShYHIC
O | AT | I8 % wid 3R wifered & offe wEd ST aTHer
TR o7 | YR =1 o AN I TSI AThIeTTS sl Fard ot 368
ST BT o1 | Ik T TG @R o $H© VI § ARG 1 3 8
HEc W Fghid g off | gfeor Ira § oft gfae ofided ¥ I8 3
TG H Th 0 ST TS i a1d ISR off |

9
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(1)

(i1)

(iii)

a9 % W@ fed @ 8l % Am fafen et el ¥+

JTATEETE] TGl <1 357 AT |

STH-RYHR § TR o IS &1 SRV MG HINT |

A | YT Tehdl ol A i o hig al U ST | 1+2+2=5

Read the passage given below carefully and answer the following

questions :

(1)

(ii)
(ii1)

After Independence our nation had to cope with many
difficult issues like partition, displacement, integration of
Princely States and so on. Many observers both within the
country and from outside had predicted that India as one
unified country cannot last long. Soon after independence, the
issue of Jammu and Kashmir came up. It was not only a conflict
between India and Pakistan. It was a question of political
aspirations of the people of Kashmir valley. In some parts of the
north-east, there was no consensus about being a part of India.
In the south some groups from the Dravid movement toyed with

the idea of a separate country.

Identify any two regions of north-east India where the

secessionist movements emerged after Independence.

Find out any two reasons for the unrest in Jammu and Kashmir.

Suggest any two methods to strengthen the national unity in

India.

10



&
[=]inir
19. ¥ fou MU sradwr w1 eamyEe stemEd Hifve it fefafea s % 3@
o
qmaTg o 90 o S1¢ 4 Aifadd €99 o RS T gdmag),
FHSETE Il ¥ AlhdlHh YSare] SHael e o heedg Hshaul
B TR | &, HE TRMAT % RS 3R geff 309 % gu # gsfarg
3R HhUUl T Teh W HigeA A9 T | fogg S 3R srauisd gor
HY g GR35 Hisa &l Wik A (IMET Ig=mehl TR AT
HE T | qAE g gFRT % SE H Wi ot At wfa SR e
JAAT-AAT Tl ATk gEeh! foum TR =i sl wmr @ wh S8 o |
() A @ i HEensT 4 qaqd gt g & u % fow e 9w
&1 A feRa 2
(i) =M A H fordl Q1 Ferranadi 1 =men HifT |
(i) 3T Nt = =g g giomm TS HIfT | 1+2+2=5

AT

= T MU EEw w1 eAEgEs AR Hivie 3R fEfafad sl % S
fafau :
AT I <hl G H g1 9&dt I 31 JREH ISMT IS foh 398 &

foidr #19 8 — I8 7 T oft 3EWT AN | PR HIS HU I W
JTTSHATT Hlch IGeh ILHTY] BN <l HTehTH hid hl I HLal & ad i
TEL % UTE 3 FE1g i A BRR g9 U | 38 TRy (e AR
HqeH) 1 qeh Ha1 T | QHT & &I % U TH-GE % HhEd AR
TE THAT Tga™ ohl o1 &aT1 Bidl & Tob his o 98 Ig 1 @a gl
33T =Tadl |

(i) T g Tortees s T8 g 2
() fa Ig form R0 & g1 weTIReA o 9 quf g # ufafaa T2t geT 2
(Gii)  ‘ST9UY’ w1 7Y Tee Hifvu | 1+2+2=5

59/1/2 11 P.T.0.
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Read the passage given below carefully and answer the following
questions :

The collapse of communism was followed in most of
these countries by a painful process of transition from an
authoritarian socialist system to a democratic capitalist system.

This model of transition in Russia, Central Asia and East
Europe came to be known as ‘shock therapy’. It varied in its
intensity and speed amongst the former second world countries,

but its direction and features were quite similar.

(1) Which two international institutions administered shock
therapy in the former second world countries ?

(i)  Explain any two features of shock therapy.

(iii) Explain any two consequences of shock therapy.

OR

Read the passage given below carefully and answer the following
questions :
In the event of a nuclear war, both sides will be so
badly harmed that it will be impossible to declare one side or
the other as the winner. Even if one of them tries to attack and
disable the nuclear weapons of it rival, the other would still be
left with enough nuclear weapons to inflict unacceptable
destruction. Both sides have the capacity to retaliate against an
attack and to cause so much destruction that neither can afford

to initiate a war.
1) Why is a nuclear war indecisive ?

(ii))  Why did the Cold War not transform into a full scale war
involving the superpowers ?

(iii) Explain the logic of ‘deterrence’.

591112 17



20. = fou MU HET H AEyEEs e Hifvw qun Fafafad s % S®

ISR E
TH IThIT T STe O

(i) ww@ﬁmmqmn—aﬁwmml
(ii)  forelt Tiefieft (TTemear) SRR o fohegi qf Qi bl T8 SHIfT |
(iii) 39 e 9 U T T I IR HINT | 1+42+2=5

Study the cartoon given below carefully and answer the following

questions :

THEY SAID
THEY'LL SUPORT
THE GOVERNMENT
FROM OUTSIDE !

1) Name the Prime Minister shown in this cartoon.
(ii))  Explain any two demerits of any coalition government.

(i1i) Highlight the message conveyed by this cartoon.
59/1/2. 13 P.T.0.
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Fie:  FHEICTRET I97 FIT FIEFTAT QAL & 1078, 97 &1 20 & T T & :

Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 20 :

(20.1)  HRd H YgAT T3-EH hl TTHNT 6 T FAl o1 99 fafgu |

(20.2)  TESREA AYQT THeligel TR &1 78 TIse HIfT |
(20.3)  TEEYT HIHR h hIg & ¥ IR HIfNT | 1+2+2=5

(20.1) Name the Prime Minister of the first coalition government in
India.

(20.2) Explain the meaning of coalition government.

(20.3) Highlight any two demerits of coalition government.

21. uhEm & fiu U Tt wWiaEteE (T 16 W), H U o W
@, ®, ©, D @ B g =R W g | AN & T AHHR F ER W
2ol Wl UgEH I S ot STy o g wd am, W <Al
I sl sh T@AT qAT reIf-ord 3TeR, A & 78 Arferert o &9 4 ferflaw

TN <l TS AR
1 A T

@)
(ii)
(iii)
(iv)
)

graf-dd e | e &AM

(i) 39 & 1 T < ST UTfehedT ST WIT o |

(i) SO refegaeen ol IS oM 1T 39 &3 1 YUH o |

(iii) Tk N S HaLTS Toras o |

(iv) U w1 a3t drehari=iss 3 &= e w1 8 |

(v)  Ueh 231 Sl @Teh ! T T8l § | Ix5=5
59/1/2 14




In the given political outline map of Asia (on page 16),

five

countries have been marked as @), @), ©, (D and (B). Identify them on

the basis of the information given below and write their correct names in

your answer-book with the respective serial number of the information

used and the concerned alphabet as per the following format :

Sr. no. of the
information used

Concerned
Alphabet

Name of the
Country

6)

(i1)

(iii)

(iv)

v)

(1) A country of the region which was a part of Pakistan.

(i1)  The first country in the region to liberalise the economy.
(iii) A country which had been a constitutional monarchy.

(iv) A country that experienced both civilian and military rule.

(v) A country which is not a member of SAARC.

59/1/2
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P.T.O.



IEIFE' [x]
[=]ir

T 9. 21 & fow For question no. 21

uivran - TR Asia - Political

I~ 60+

ct
SCALE &
Kms.0 500 1000 1500 Kms - =
' . o 3 80" %" TS 100 120°
h o 5 b ¢ . . '

el go7 @ac gieanaa gaendal & g, 397 & 21 & €& W/

The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 21 :

(21.1)  <feqor uimn o Tt weh <1 o1 9m faiRaw ST gFl, drehdriees 31T
T T W@ # |

(21.2) TH ¥ uftrE g w1 Am fafaw s erdia # fag g o |
(21.3) 3@ N k1 A faafgu S arferea™ st 9w o |
(21.4)  ITeh o fohral IR & <301 o 1 fdAfgu | I1+1+1+2=5

591112 16



(21.1)

(21.2)

(21.3)
(21.4)

Name any one country of South Asia, that has experienced both
civilian and military rule.

Name an Asian country which was a Hindu Kingdom in the
past.

Name the country which had been a part of Pakistan.

Name any four member countries of SAARC.

T[Ue g
SECTION E

22, S ITHl 7 Alhd H 7YY A o o 39k foEdr® § InTe fea
2 |7 ot <hl TgRIaT | e i gfee hifse | 6

AT

“qrea o Tl &3 o AT gry SAfeah hl TS & sTreRied fofirerdr d wehdn

%1 ICTEWT & |7 el shl TERIAT | oM i gfee HIT | 6

“The popular movements have contributed to the expansion of democracy

rather than causing disruption.” Support the statement with arguments.

OR

“Regional aspirations expressed by people of different parts of India is an

example of Unity in Diversity.” Support the statement with arguments.

23. ‘GHe’ @ faued & gl 9 alient ot fagawo Hifsa | 2x3=6

HAAT

1970 % ¥1g = gRI 310 Adaeel &l gurd & fou I8¢ 7 gl
Shenl @i foveror I | 2x3=6

Analyse any three methods to overcome ‘hegemony’.

OR

Analyse any three steps taken by China to reform its economy after 1970.

59/1/2

17 P.T.O.
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24, v % HRU A g IFHE fohu MU TRl M dftEddl @ 39TR

HIT | 2x3=6
HAYAT
TSR ! YGHUT § S % I3 A dlleh AT | 2x3=6
Highlight any three changes experienced by you due to globalisation.
OR

Suggest any three methods to protect the environment from pollution.

25. 1969 H HIH U1 hI =Tk fG9TeH Sl IR o W et fohegl A Tq@ T&i

T HIfT | 2x3=6
STUaT

1975 H 3TUTdehldd <h! =9on & fau IRl forgl a9 R il saren

I | 92x3=6

Explain any three major issues that led to the formal split of the
Congress Party in 1969.

OR
Explain any three reasons that led to the declaration of Emergency in
1975.
26. NG i Te-Faeman i ifa it fohdl T faemyareti =1 avia i | 1§><4=6
HAYAT

TR FiTa™ o 31=0g 51 % ST=ald SFalseid IMf=d 3T L& ! agral o’
%%@W%ﬁﬁﬁ%ﬂ%ﬁmﬁﬁaﬁﬁﬁﬁﬁw%@?ﬁ

! fafau | 1o ! va=6
Describe any four features of the non-alignment policy of India.

OR

State any four principles of Directive Principles of State Policy on
‘Promotion of International Peace and Security’ as per Article 51 of the

Indian Constitution.

591112 18



27. iU T IR ww Tfewe’ % &= foag % fohsl IR H{E w1 9ud

I | 1§><4:6
atera

1975 H AR <l T SAUTAHTA o SR hl TS fohedl TR TR sl SATGRT <t

ot i | 1§><4:6

Describe any four issues of conflict between Indira Gandhi and the
Congress ‘Syndicate.’

OR

Describe any four type of excesses made during the period of Emergency
imposed in 1975.

59/1/2 19



